SRR 27 R
TERRFEERE S0 7 J A ERERE

A I[I-C  fREH



[1-C
ugodg
ug bbogooobboobooggd
omoobooobooboobooobooo
00 12000000003

z
/
=
b

X '
D0000000000000

z

S

c

X b

U0 boooobooboboooobooobob
oobooboogooooooobooooon
ogbogooooooobooboobog

oooooooobooom

/NN

[/

OO0 240 012 x4+2 =240

ob 2000000000000

oobooboooooobooboogooDo
000000 120000 30(24+6)000
gbdn0O

12-304+n=2

gooogno
oo

X




ug ooo
b+ (b—a)? = (2a)* — a®

googobogooog

W —ab—a?=0
gognd
b
€r = —
a
goono
P —r—-1=0
gogogono
1++5
xrT = — =
a 2

0f>000001+y/5000000000

gbobobobooboobogoboon
bobobobobooboboodobo
gboogoobooboboboobooog
gooobgoobod

DDDDDDDDDDDDDDID:%“D]
gboodgboubooboggubbonbg
goooboob -0ob0boboobo
ugboogogon

12=r>47r%—2rrcosf

(g1)? = r?2 + 12 — 2rr cos 260
goo

c0s 20 = cos® 0 — sin?0 = 2cos’H — 1

Oooooooooooog eARbODbDOOO
ugodg

2 [6-2
h=+VI2—7r2= g —=1—
37V 10-2V5
De0000DO0OO0DOOODOOOOOO
O0000000ooooooooooon
00000000000 ooooooon
0000 0.5257311120 00000000

ggoobooboboooooobbobbood
gboooood

goooooon

Ub 320 012000000000000
gbobog 120000020+ 12 = 3211

goboboooobooooobboboobooo
gbobobobooobooboooboobdga
gboboboboboboobooood

goog

000000000000000000
0000000000000000000
000 (1,1,1) - (0,0,00 0000000
0000000000000000000
0000000000000000000
oooooo
000000000000000000
0000000000000000000
0000000000000000000
0000000000000000000
000001000000000000
0000000000000000000
0000000000000000000
0000000000000000000
0000000000000000000
0000000000000000000
00000000000000000000
0000000000000000000
0oo000000000000



	H27解答表紙課題IIC
	IICx



